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1. PVS. PZSRIIBEHFER
HEEH SEREREN Sy ot R iHE 71
JI:I -1
WIGHRES MPa {kgf/om?) MPa {kgt/cm?} LSS5 MPa {kgf/om?}
W-PVS-0B - 8N#-30 14 {143} 14 {143} 1200 -0.01{-0.1}} k£
W-PVS-1B - 16N#*-12 14 {143} 14 {143} .
- 22Nsk- 10.5{107} 10.5{107} 1200 —0.01{-0NRLE
W-PVS-2B - 35N:#-12 14 {143} 14 {143} .
- 4BNsk- 10.5{107} 10.5{107} 1200 —0.01{-0-nRLE
W-PZS-3B - 70N*-10 14 {143} 14 {143} 1200 -0.01{-0.1}IX £
W-PZS-4B - 100N*-10 14 {143} 14 {143} 1200 -0.01{-0.1}} £
W-PZS-5B - 130N*-10 14 {143} 14 {143} 1200 —-0.01{-0.1}X £
i) MIBIBEE10~50CEEMER.
2. VDR22iZITRFIEEM /R
HEEH SEREREN P ot R E 71
JD -1
WGRRRES MPa fkgf/om’] MPa (kgf/cm} BAHE min MPa {kgf/om?}
W-VDR-1%-1A2-22 3.5{35.7} 3.5{35.7}
A3 7 {71.4) 7 {71.4) 1800 —0.015~+0.03
2A2- 3.5{35.7} 3.5{35.7} {-0.15~+0.3}
-2A3- 5 {51 } 5 {1}
i) BB E15~55CEEMER.
3. VDCRIIEZEMRER
= HEEH SEREREN PR i R iHE 71
WGRFRE MPa (rgf/om?] MPa (kgf/cm'] BAHE min MPa {kgf/cm?}
W-VDC-1#-1A2-20 3.5{35.7} 3.5{35.7}
A3 7 {71.4) 7 {714 1800 —0.015~+0.03
2A2- 3.5{35.7} 3.5{35.7} {-0.15~+0.3}
-2A3- 5 {51} 5 51}
W-VDC-2%-1A2-20 3.5{35.7} 3.5{35.7}
-1A3- 7 {71.4} 7 {71.4} 1800 —-0.015~+0.03
2A2- 3.5{35.7} 3.5{35.7} {-0.15~+0.3}
_2A3- 5 61} 5 &1}
W-VDC-3%-1A2-20 3.5{35.7} 3.5{35.7} 1800 —0.015~+0.03
A3 7 {71.4) 7 714 {-0.15~+0.3}
i) imiRIEE15~55CERIM{EA.
4. IPHRFIIPER
= HEEH EaEREAN Cnpmen o Wi 71
W/GHRES MPa {kgf/cm?} MPa {kgf/cm?} RAFEIE min MPa {kgf/cm?}
W-IPH-23-s-11 21{214} 25 {255} 1200 —0.015~+0.03 {~0.15~+0.3}
W-IPH-3%-%-20 21 {214} 25 {255} 1200 —0.015~+0.03 {~0.15~+0.3}
W-IPH-4%-%-20 21{214} 25 {255} 1200 —0.015~+0.03 {-0.15~+0.3}
W-IPH-5%-%-21(11) 21{214} 25 {255} 1200 —0.015~+0.03 {-0.15~+0.3}
W-IPH-6%-%-21(11) 21{214} 25 {255} 1200 —0.015~+0.03 {~0.15~+0.3}
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1. ENEHE

ERAK-C 2B RRERER, BT —RRARERPIEE.

) ) 1%
E 7 W/GHEES —
ERERAEA BEARE
R-G903-#-12 (i) 30 (20) ¢ /min
i i HE) R-@)06-%-20 21MPa {214kgf/cm?} 150
R-G910-#-20 340
e RI-G03-*-20 . (i) 120 (30) £ /min
SRR 1 RI-G06-:-20 21MPa {214kgf/cm?} 260
RCD-T02-:-11 150 /min
TR AR i RC-T02-#-12 21MPa {214kgf/cm?} 2
RC-G02-#-21 2
RSA-03-#k-#%-15 30 ¢ /min
RSA-G06-# % - %-23 ;ig
S S5 32 RSA-G910-# 3% %-23 .
P RS a7 RSS 03 4% 4515 21MPa {214kgf/cm?} 30
RSS-GH06-# 3k -3 %-23 150
RSS-6)10-# 3k - %-23 340
st s _GO3- sk k e , 120 € /mi
— e 21MPa @14kgiom’) o0
i W- (C)G-6003-*-21 () 40 (20)  /min
WE (FiiEmE) @ W- (C)G-@06-%-21 21MPa {214kgf/cm?} 100
W- (C)G-6o10-%-21 250
GR-GO01-A%-20 . 20 { /min
T GR-G03-A* (B)-20 14MPa {143kgf/cm?} P
(C)Q-@03-**-21 40 0 /min
EhEs (Mem) @ (C)Q-G06-*-21 21MPa{214kgf/cm?} 100
(C)Q-@10-**-21 250
F) () AREBRTERICHENAZEE HAHEBC.
2. AEEH R
M i
% b W/GHIEES — =
EREREN BARE
CA-G)03-%-20 40 0 /min
HAXEMEE CA-G)06-%-20 21MPa {214kgf/cm?} 110
CA-@10-%-20 320
CN-T03-#-11 30 0 /min
HiB B CN-T06-3-11 21MPa {214kgf/cm?} 75
CN-T10-%-11 190
CP-&03-%-20 40 0 /min
T B ) ) CP-G906-%-20 21MPa {214kgf/cm?} 110
CP-&910-%-20 320
K 2 iz W-DMA-GO1-3-2 . 35 { /min
DMAZEF 2l (5] W a S 21MPa 214kgf/cm?) e
SA-GO1 -3k -3k k- 1) 85 { /min
SAIE = HL R[4 SA-GO3kx(J)2] 28MPa {286kgf/cm?) 250
DSA-GO4-# 3 - 3%
DSA-GOB-#3-#%-22 500
SS-GO1-#*-%%-31 1) 85 0 /min
SS-G03-#*-%3%- (J)22 . 110
o _ DSS.GO4- sk 59 28MPa {286kgf/cm?} 250
SSIE T R Rik#h [6] 1) DSS-G06-#3k-#%-22 500
SS-GO1-#*-FR-%##-31 1) 450 /min
88 G08 ek FRA £ ()22 21MPa {214kgf/cm?} s
TSR A W-SF-GO1-#3%-%%-10 14MPa {143kgf/cm?} E1) 34 0 /min
SNH-GO1-#s#-%-11 iE1) ;zﬁ/min
= e SNH-GO3-#3#-#%-10 ,
Tt R R ONH-GO4- 4% 4%-10 31.5MPa {321kgf/cm?} 0
SNH-GO06-#3k-%3%-10 85
WEI: K2-6902-10 21MPa {214kgf/cm?} _
K2-6903/04-10 35MPa {357kgf/cm?} -
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3. mEREEE
) M &
& i W/GHRES —
SEREREN RARE
(C)FR-G203-10 30 £ /min
T (fiisgm) @ (C)FR-G906-10 21MPa {214kgf/cm?} 75
(C)FR-G910-10 190
S o ] O 2 ) (C)FT-G02-*#-22 21MPa {21 4kaf/cm?
FTZRA R S 425 (B 2 1) i) FT-G03-#%-22 a {214kgf/cm?)
. . (C)F-G06-170-20
KRS = 513 | g g =] 21
F2ERY i 2 12 51 (B 2 1)) 1] (C)F-G10-373-20 21MPa {214kgf/cm?}
. . (C)TN-G02-2-11
T U= 51_: | 4 o o . 2
NZE R 7T 2 2551 (B 52 [ ) i) (C)TN-GO2-8-11 10.5MPa {107kgf/cm?} )
TSZERY T 247 i (Bt 52 157) 1) (C)TS-G01-2-11 10.5MPa {107kgf/cm?}
" W-TL-G03-#-11
TL(TLT)%E
= %(n*ﬁﬁ)fji W-TL-G04-*-11 7MPa {71kgf/cm?}
TR W-TLT-GO4-%-%-11
FEARERREINEEEZRMIM5%EHR.
4. &g
. # &
E4 b W/GFEE S —
EaERAEN RARE
NNV OR-GO1-#3-20(21 30 ¢ /min
BT OR Go3 w7 J)(SO) 21MPa {214kgf/cm?} o
- Pt o ORO-G01-%#-20 20 ¢ /min
RNV ORD-GO01-*-20 . 20 { /min
B =X E Zhi i e ORD-GO3-- (J)50 21MPa {214kgf/cm?} 30
OG-G01-P*-21 30 0 /min
OGB-G01-P*-20 . 30
B REE W-OG-G03-P¥- (J)51 21MPa {214kgf/cm?} 65
W-OG-G03-PC- (J)51 45
0OGS-G01-P*C-22 21MPa {214kgf/cm?} 30 ¢ /min
0G-GO1-#%-21 30 ¢ /min
< s - OGB-GO1-#%-20 30
=2 E b o ’
EMAXRE (FHEE) M W-0G-GO3-#%- (J)51 21MPa {214kgf/cm?} 65
0G-G03-#C- (J)51 45
- o 0Q-G01-P2-20 30 ¢ /min
B n=C I v 0Q-G03-P2%- (J)50 21MPa {214kgf/cm?} o5
- T 4 OCQ-GO1-1%-20 30 ¢ /min
B T 0CQ-GO3-#1%- (J)50 21MPa {214kgf/cm?} 65
OY-G01-%-20 30 0 /min
o OCY-G01-P-20 30
%E%E qﬁwﬂ OCY-GO3-P- (J)50 21MPa {214kgf/cm?} 85
YT OCY-GO1-#-X/Y-20 30
OCY-G03-#-X/Y- (J)51 85
OF-G01-P20-20
" . OF-G03-P60-J50 .
= o] & 3
B = & [0 1) OCF-G01-#40-X/Y-30 21MPa {214kgf/cm?} (F)
OCF-G03-#60-X/Y- (J)50
o : OC-GO1-#3-20(21 30 ¢ /min
BR8] et 21MPa {214kgf/cm?) o
. . OCV-G01-W-20 30 £ /min
E=3 37 323 BA 1O HE 2
B RIE R 5 1 OCV-GO3-W- (J)-50 21MPa {214kgf/cm?} o5
=, x o OCP-GO1-**- (F)-21 , 30 0 /min
B = E S 6 OCP-G03-#+- ()50 21MPa {214kgf/cm?} 85
04ZRF BN H 7T ) ORH-G04-P*-10 31.5MPa {321kgf/cm?} 250 { /min
04% 5 & =X B B i i) ORH-G04-D#-10 31.5MPa {321kgf/cm?} 40 0 /min
042 F B MNCR JE i OGH-G04-#x-10 31.5MPa {321kgf/cm?} 250 { /min
042 51| & =X, 11 OQH-G04-#x-10 31.5MPa {321kgf/cm?} 250 0 /min
04ZRFN BN E T 1 OYH-G04-#%-10 31.5MPa {321kgf/cm?} 250 { /min
047 5| B =t 7k 245 1 18 OFH-G04-%200-X/Y-10 31.5MPa {321kgf/cm?} GE)
042 5B N 5 13 i) OCH-G04-#x-10 31.5MPa {321kgf/cm?} 250 { /min
04Z 51 B 0=t By 2 {1k 52 [ 4] OVH-G04-W-10 31.5MPa {321kgf/cm?} 250 { /min
04Z 5B N A4 B [a) #7) OPH-G04-#x-10 31.5MPa {321kgf/cm?} 250 { /min
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5. RRIEHIR

£

b

W/G RS

BaEREN

Ny

LRy S

EPR-G01-%-12

28MPa {286kgf/cm?2}

1 0 /min

T

ER-G03-%*-21
ER-G06-%*-21

25MPa {255kgf/cm?}

120 { /min
260

o Tt 1 ek

W-EGB-G03-*-11
W-EGB-G06-*-11

25MPa {255kgf/cm?}

40 £ /min
80

B

(C)ES-G02-*- (F)
ES-G03-#- (F)
(C)ES-G06-250-11
ES-G10-500- (F)-11

-12
-12

21MPa {214kgf/cm?}

(iE)

T Ter R R T

ESR-G03-125-12
ESR-G03-125R*-12
ESR-G06-250-12
ESR-G06-250R:*-12
ESR-G10-500-11
ESR-G10-500R*-11

25MPa {255kgf/cm?}

(iE)

T i el

ESD-GO1-*#%-12
ESD-G03-%%#*-12
ESD-G04-%3%%-12
ESD-G06-%#3**-13

25MPa {255kgf/cm?}

()

B 0= &

EOG-GO1-P*-11

25MPa {255kgf/cm?}

25 ( /min

BMREEHE

EOF-G01-%25-11

21MPa {214kgf/cm?}

(iF)
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